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QUESTION 1

You have just completed installing, cabling, zoning, and device masking for a new server. HBA configuration was
successful, yet the host cannot see the storage after executing a device find command. Investigation at the switch
reveals that the host is not "seen" at the switch port. Light is visible at either end of the fiber but no link light is seen on
the switch. What is the most likely cause of the problem? 

A. the switch ports are enabled 

B. the HBA on the subsystem is not online 

C. the zone has not been activated 

D. transmit and receive fibers are reversed 

Correct Answer: D 

 

QUESTION 2

In what mode is NFS running when a link failure is transparent to both the server and client? 

A. session oriented 

B. stateful 

C. seamless 

D. stateless 

Correct Answer: D 

 

QUESTION 3

You have been asked to review your fabric management plan for effectiveness and efficiency, and to ensure that you
are meeting its stated requirement. What should you check to see if you are meeting the defined SLAs? 

A. viability of 1Gb/s FC technology to minimize problems with support 

B. backup and recovery test results and their impact on fabric infrastructure 

C. actual expenditure on fabric services against the predicted expenditure 

D. frequency of fabric failures and the number of services impacted 

Correct Answer: A 

 

QUESTION 4

A customer with sixteen nonclustered SAN attached hosts has a storage subsystem with thirtytwo disk drives. The
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customer wishes to protect their data using RAID 1. Each server has a need to see three separate volumes for their final
configuration. What must be configured on the storage subsystem to meet their storage allocation needs? 

A. multiple scsi targets to each mirror volume 

B. single logical unit and use hostbased LVM 

C. separate virtual paths for each mirror volume 

D. separate logical units for each server volume 

Correct Answer: D 

 

QUESTION 5

Click the Exhibit button. 

After developing a business continuity solution for your company, you implement a backup solution in your IT
infrastructure with focus on backup and restore technologies. Which statements are correct when implementing this
backup solution as shown in the exhibit? (Choose two.) 

A. backup impacts the LAN traffic 

B. multiplexing to tape reduces data traffic 

C. metadata is sent to the backup server 

D. servers can share the library for faster tape access 

E. backup server can directly backup snapshots of the primary storage 

Correct Answer: AC 
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